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EBIT—T EBIT dep
6—1
6—1

R 145000
\VC — 90000
FCC — 10000
dep — 15000
EBIT 30000
rD — 5000
EBT 25000
@T 40 Tax 10000

NI 15000




VC FCC dep

VC- FCC- dep -T( R- VC- FCC- dep)+ dep
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2 3 4
6—2
A 2
B 4
C 4
D 3
A
A
G*
I G €l
0 —1000 1000
1 100 900
2 900 100
1
3 1 3
2



ROA
ROA ROI
6—2 B
ROA= (& t/n), I,
t=0
lo= =1500
n= =5

- 1500 +0 +0 +450 +1050 + 1950

ROA =| =
1500 =22 1500 =X oy
. 5 1500

A —8

B 26

C 25

D 22

B
1950
1 1050 2 450 1 —1500
1 17

DCF



CF, CF, CF

NPV _[(HK)l okttt K)”] “lo
Y S5 63)
a @a+kK) ° ( '
CF. CF, K
N
6—2 C
K 10
x PVIE = PV
0 —1500 1000 — 1500.00
1 150 0909 136.35
2 300 0826 247.80
3 450 0751 337.95
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750 751 563.25 579 434.25 512 384.00 .507 380.25
750 .683 512.25 482 361.50 .4010307.50 404 303.00
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PV PV
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C - 0 1.0000 -
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= 25%
CcP=
= 10
EOQ= = 5400
N= :U/Q
P= =40
S=
U= =3600
V= =125
C
P A
A 072
C P A
3600/2 1800
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1 800 9000
10 xQ/2 50
5400 -
V
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5400  +125  (U/Q)
5400  +125  (3600)/Q
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T* R*
T
T=CPA+VN+F (  13.1)
A=0/2 ,N=U/Q, 13.1 0 -
13—1

R= CPZ(%) +V(%) +F

:CP(%)+VUQ'1+F (132
13.2  Q 0
dr _Cp VC _
Q2 @
e _wW
2 Q?
AL
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U .
Q= $=Q = EOQ ( 133
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13.5
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b a C
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U
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dT CP u w

d_Q =7(1- E) - ? =0 ( 1310)

CP CPU VU

2 2R Q@
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Q?(CPR- CPU) = 2URV

. ~ / 2URV
Q =EOQ= CP(R- C)

0
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=+/360000 = 600 /
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300 600 150 75
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X
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13—3 30
450 150
13—330
/130
150 5.00 0.04
200 6.67 0.08
250 8.33 0.20
300 10.00 0.36
350 11.67 0.20
400 13.33 0.08
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150
13—4 450 300
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10 ,
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=5 )150 =125
150 125 100
13—4 10.42
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83.33 100 150
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150 450 0 0 0 0 125.00 125.00

100 400 50 260.50 0.04 10.42 83.33 93.75
50 350 50 260.50 0.08 20.84

, » 100 521.00 0.04 20.84

vy, 41.68 41.67 83.35

, » 100 521.00 0.08 41.68

, » 150 781.50 0.04 31.26

vy, 125.04 0 125.04

50 12
350 300
300
30 5 15
5x 15 75

300
10 50

T CPA VN F CPS K
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Financial Structure

Capital Structure

Net Worth

E
D
TA
1 5000
D/TA
1 D/TA 0.5
D/E 0.5 1—0.5
Risk
Financial Risk
UM
16—1
1
4 80

16—1 UM 4

Capi-talization

LeveageFactor
TA %
\%

50

D/TA+  1—

Busi-ness
EBIT
NI

20 3 50



1(D/E=0% DITA=0%)

$0
( $10) 10000
$10000 $10000
2(D/E=100%; DI/TA=20%)
$2000
( $10) 8000
$10000 $10000
3(D/E=100%; D/TA=50%)
$5000
( $10) 5000
$10000 $10000
4(D/E=100%; D/TA=80%)
$8000
( $10) 2000
$10000 $10000
16—1
EBIT 1—T NI 1—T
gD r D
20 10

16 2 UM

um



EBIT NOI

20% 20% 60%
1:DITA=0%
EBIT NOI $2000 $2000 $6000
(rD) 0 0 0
2000 2000 6000
(40%) __800 800 2400
(NI) 1200 1200 3600
(ROE) 12% 12% 36%
EPS,1000 $1.20 $1.20 $3.60
1:DITA=0%
EBIT NOI $2000 $2000 $6000
(rD) 200 200 200
2200 1800 5800
(40%) __ 880 720 2320
(NI) 1320 1080 3480
(ROE) 16.5% 13.5% 43.5%
EPS,1000 $1.65 $1.35 $4.35
1:DITA=0%
EBIT NOI $2000 $2000 $6000
(rD) 700 700 700
2700 1300 5300
(40%) 10800 520 2120
(NI) 1620 780 3180
(ROE) 32.4% 15.6% 63.6%
EPS,1000 $3.24 $1.56 $6.36
1:DITA=0%
EBIT NOI $2000 $2000 $6000
(rD) 1600 1600 1600
3600 400 4400
(40%) 1440 160 1760
(NI) 2160 240 2640
(ROE) 108% 12% 132%
EPS,1000 $10.80 $1.20 $13.20
16—1
16—2 16—3

ROE 48



80 240

16—1
80
EBIT
16—3
0 48%
20% 60%
50% 96%
80% 240%
10
20
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(DOL) = EBIT e
- - X
( 161)
EBIT UM
6000 20
100 16 4 DOL
16 2 80 100 EBIT 2000
100 8000
EBIT X 2000 DOL

100 boL 4 10 EBIT  NOI 40
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2000
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- EDIT
= ( 163
DOL  DFL DCL
c. X C
DCL =~ &) X (1639
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DOL 4 DFL 5 DCL 20
10 N1 ROE  EPS
200 DOL 4 DFL 1.11 20 DC1 4.44
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DOL DFL
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(0.25) 1000 2000 3000
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20% 20% 60%
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16-7 16-2
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cv ROE  ROA
16-6 UM
S P, ROA P.ROA(ROA ROA)(ROA ROA)? P,(ROA ROA)?
1 02 020 004 044 0.1936 0.03872
2 05 020 010 0.04 0.0016 0.00080
3 03 060 018 0.36 0.1296 0.03888
ROA=0.24 $,=0.07840
$=0.280

S
Ccv

=928 _ 1167

~“ROA 024




16-7 UM

S R ROE PQROE (ROE ROE)’

Py(ROE ROE)®

1 1 0.2 0.12 0.024 0.264 0.0139
2 05 0.12 0.060 0.024 0.0003
3 03 0.36 0.108 0.216 0.0140
ROE =0144 s,=0.7056
084 5=0.840
CV =——=3500 '
0.24
2 1 02 -0.165 0.0330 0.330 0.02618
2 05 0.1.5 0.0675 0.0.0 0.0005
3 03 0.435 0.1005 0.070 0.0219
ROE =0.165 $,=0.7056
0.84 s=0.840
CV =——=3500 '
0.24
3 1 02 -0.324 0.0648 0.528 0.0558
2 05 0.156 0.0780 0.048 0.0012
3 0.3 0.636 0.1908 0.4.2 0.0560
ROE = 0240 $,=0.7056
084 $=0.840
CV =——=3500 '
0.24
4 1 02 1.08 0.216 1.320 0.3485
2 05 0.12 0.060 0.120 0.0072
3 0.3 0.32 0.396 1.080 0.3499
ROE = 0.240 s,=0.7056
084 5$=0.840
CV =——=3500 '
0.24
cv ROE ROE
B UM B
1.568 20 UM
16.4
SecurityMarket Line
E(R})=0.09+(0.05)b]j ( 16.4)
B B

bi=b.[1+(B/S) (1-T)] (  16.5)



B B B. B/S
B
1.568=b,[1+0.2(0.6)] (  16.53)
b.=1.4
B. 1.4 16-8 B
2
16—8
2 2 3
16-8 B T 40
4 B 1.4 5
4
B 5.6 4 1
5.6
16-9UM B
by E(R) ROE

1 1.400 0.1600 0.1400
2 1.568 0.1684 0.1650
3 1.904 0.1852 0.2040
4 5.600 0.3700 0.2400

16-9 B

10
16-9
1
3 1

37
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0.2 0.5 0.3
$5000 $12000 $20000
6400 6400 6400
1000 2400 4000
7400 8800 10400
(EBIT) $2400 $3200 $9600
EBIT 2400 $3200 $9600
(12%x $7000) 840 840 840
3240 2360 8760
(40%) 1296 944 3504
(NI) 1944 1416 5256
EPS,500000 3.89 2.83 10,51
38.9% 28.3% 105.1%
EPS =$3.79
EBIT $2400 $3200 $9600
(10%x $5000) 500 500 500
2900 2700 9100
(40%) 1160 1080 3640
(NI) 1740 1620 5460
EPS,600000 2.90 2.70 9.10
24.8% 23.14% 78%
EPS =$3.50
24
500000
EPS EPS EPS
3.79
3
600000 500000 100000 20 x 100000 2000000
EPS
16-2
16-3
UM
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1984 16-12
65 42 1/2

1/4 36 47

16-12 1984
65 17 45 16 64 36
52 7 31 20 59 41
42 5 27 18 53 47
50 4 22 10 B 62
36 8 24 12 41 59
38 4 24 30 67 33
68 3 56 6 67 33

16-12
13 ” 62 [
"33
30
16-13
16-13
49% 41%
11 6
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aS=aS, aB

a Si S. B
Si B S,
S B WL & V., VoV,

17.1
X
K=K, =3 (172
|
v, =24 1) (173
KU
_X(@-T)
Y ( 174)
L) a asS. axX KeB)1 T)
) a5, al T)B ax)xr 1) al TKB
al T)B =a(X K,B)(1-T)
B

a 1—T B



17.5

valL-ue

aS=aS, a(l T)B

$=S. (1 T)B

Si=S, B+TB

Si+B=S,+TB

Si+B=V., Si+TB,

Vi+V+TB

17.5 MM

MM

W
e
the cost of equity

S

N|:(X KbB) (X KbB)T
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(

17.6

17.5)
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NI=KV. KBT KB(L T)

VI S B S
NI « - K,S KB _ KBT K,B(1-T)
s S s s s S

Ks = K, +KUE(1- T)- Kbg(l' T)
KS = Ku +(Ku - Kb)(l_ T)(B/S)

(178
MM
— Ka—Kb
17-1
A
Ks
(Ki Ky T
Ky
0 »
B/S
17-1
WACC
B S
K=WACC=K,(1- ) +Ks— (179
VL VL
WACC WACC

WACC



I= B+ &
VL
B® s°
V= B+ B+ S™§"
|
V, B? B" s° S
= + + +
| | | | |
BO
=0
|
VL _ SO .\ Bn + Sn
I |
V" g
V|_ SO Bn + Sn
= +
| | |
V.
—S|°= IL-1 ( 1710

V,
0 IL_1>O



17.3 17.5

== < | ( 1711)
17.11 17.10
0 X(@1-T) X
= + >
| < T 1>0
X(1-T) B,
— > K, (1- T—I) ( 1712)
X@A-T
v, = (1-T)



B
K=WACC®° K,(1- T I”)

17.12 —
Bn
K=WACC®° K (1- T | )
B" S
WACC
K =WACC®° K_(1- Ti) (  1714)
u B+S '
MM WACC
1. WACC
S° /
2.
B° / 0
3.
T
WACC
1.K=K,(1-T) (B/V)+Ks(S/V)
( 17.15 17.9)
2k =241 ( 1716 1713
VL
3.K=K.(1-TL), L=B/V
( 17.17 17.14)
12_2 13 / ”
/
17-2 a b
Vv VL
Vu

MM
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17-2 /

$1000000 $1000000
$1000000 $5000000
( 10%) $5000000
$1000000
40
(X) $200000 $200000
(KoB=rD) _ 50000
(X  bB) $200000 $150000
A0%T(X  KyB) 80000 60000
X KeB@ T) $120000 $9000
K, 12
_ X(1- T) _$200000" 06 _
V, = v e = $1000000

u

Vi=V,+TB=$1000000+0.4($500000)=$1200000

S=VL-B=$1200000 $500000=$700000

Ky 12



K<=Ku+(K,~Ks) (1-T)B/S Ks=N1/S
MM 17.8

K=0.12+(0.12 0.10)(0.6)(5/7)  K.=$90000/$700000

=0.12+0.0086 =12.86%
=12.86%
1969 SML

Ko =Re +(Ry - R)b,[1+(B/9(1- T)]

B. 1 B/s 1 T BL B
B. X
B.

12 12.86
10
1000000 1200000
12 10 MM
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VL Vu TB
17.17
K=K.(1 TL) ( 17.17)
100
MM
Te
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(L) a
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=aX RB)L Tl T
(1- ToL- T,)

(1_ pr)

1BL

(1- Te)(2- Ty)

alV, - B)=as, - a1 1B




&1- To)(L- T,)u
é u
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(1719
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- 1-Ts) g
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_& u 171
e 1-Te) g
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17.5
) ; T 20
50 20
é (O_5)(0.8)L:'| 1- T, - 04 06-T,
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2} (1- pr) 0] 1- pr 1- pr
17-1
1977 17.19
Scholes
1- Tc
G= [u]B ( 17.20)

1-T

pb

17 1



0.1 0.60
0.2 0.50
0.3 0.43
04 0.33
0.5 0.20
0.6 0.00
0.7 0.33
17—3
17-3
17-3 n rd/ 1 T
o
o
ro/ 1_pr
rO — r0
1-T, 1-T,
B*
B B
B*
Multiple Tat Shields
De Angelo MasuliS

17-4
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1962 1976
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7.6 t 15
Black

Merton 1974

5.4
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Jeusen Meckling 1976
17-2
17-2
1 2
0.5 $40000 $10000
0.5 $60000 $90000
1 50 40000 60000
50 10000 90000
50000 40000 NPV
20000 1
2 50
90000
20000
2
17-5

17—5



Titman 1981

Scott

Ross 1977

1976

D*



Haugen Senbet 1979 “ ”

Agency
Problem

Leland Pyle 1977



MM

20%

MAX[0.V D] MIN V

MIN[V. oV D “ g



17

17-6



UM 17-3

17-3 17-3 UM
) @) Q)*
0% 5.00% 0.0%
100 12.00 12.00
100 12.00
10 5.10 0.51
0 12.30 11.07
100 11.58
10 5.40 1.08
80 12.75 10.20
100 11.28
30 5.50 1.65
70 13.29 9.30
100 10.95
35 5.70 2.00
65 13.50 8.78
100 10.78
40 6.00 2.40
60 15.00 9.00
100 11.40
50 8.00 4.00
50 18.00 9.00
100 13.00
60 13.50 8.10
40 24.00 9.60
100 17.70
a— 100
17-7

20



35

UM UM
65
um 20% 40
17-7 UM
17-3 17-7
K
17-8
17-8 B

17-8 C

17-7

35

35



17 8
d1 PO
D1 VO
BT VAR (
g
f
K 4 + —L+
TRE-H IV
17.22
20 dli 2 f 10
18

K. = ————— +5% = 1611%
s~ 20(1- 010) °

15
16.11

16.11

17.21)

17.22)

18



17-9

F b
17.23
NPV = A bl
(1K), (1- f)
17.23 NPV
17.24
N CF, DI
NPV = &

c@+K),  [1- f@-T)]

17-9
17-9 b
(1723
I-
1
(1724

17.24



1000



WACC —

WACC

40

10 AA

WACC
uc

1984 1

Ke(1 T)=
15

9
1 T
AA " "
13.5



uc

uc
1000 10 uc
AA Aaa
uc 810.95
17.25 Kb uc
20
81095= § — 0 (1000
t=1 (1+ ﬁ)t (1+ﬁ)20
2 2
( 17.25)
Kb AA 13.5
13.5
Ko(1-T)=0.135(0.6)=0.081
8.1
2

85

= = ps

ps

(  17.26)

9

69.23

40

10

85



dps 9

= ——=013=13%
P. 6923 ’
13 13
8.1
13.5
3
1 CAPM
2
3
4
1. CAPM
CAPM
B
K, =R +(R, - R)b
6 8 7.5
10 CAPM
B
B United
Corporation B 1.05 ucC
K 10 7.5 1.05 17.875 uc
17.875
CAPM
1984 10
12.5

K:=12.5+7.875=20.375(%)

1984 10



1982

CAPM

CAPM

13.5
18

4.1 14.1
18.2

d _d(A+g) EPS,(1+9)(A-b)
K.-g K,-g K,-b,

S S

F%:

(1727

17.27



12
12
12
12 P

17.28

d;

K,=—=+g (1728
R
17.2817
do
2.75
12 ds
2.75 1.12  3.08 uc
62.44 3.08 4.9
1 .CAPN——17.9
2 . —18.0
3 . 18.2
4 16.9
18
17
18 17

MCC
17-4

Ks

Ks

62.44

16.9

WACC

12



$2080 $360
2490 400
( 12%) 400
110
120

(  10%) 1000
200

1980

$4570 $4570




17-4

17-5
17-5
¢ ) ¢ )
L) 2) ©)] (4) O]
$400  100% $400 108 10%
1000 80% 800 215 20%
200 70% 140 .038 5%
* 1980  120% 2376 .639 65%
(*38.05 ) $3580 $3716 1.000
17-5 1
1
2
100
AA 10 13.5
1000 800
80 70
62.44 52.04
120
3
37.16



17-6

12% 7.2% .10 12%

13.5% 8.1% .20 1.62%
13% 13.0% .05 .65%
17% 17.0% .65 11.05%

WACC=14.04%
WACC 17-6 17-6
17
40
1 40 1984

14.04



17.29

E(R) =R. +ICOV(R,,R,) (  17.29)
| ﬁM - Re
2
Sm
E(X))
E(R) = (1730
Vi
17.30 SMI Vj 17.31
E(X;)- ICOV(X,,
y - EO RF(,RM) R,
Xj = 240
COV (X ,,Ry) =1160
R. =10%
| =8 VAR(R, ) = 001
17.31

_240- 8(1160)
e 010
V, =1472



1472

CoV(X,,R,)
V.

J

COV(R,,R,)=

1160
COV(R] ) RM) = ﬁ =0.0079

I B

_COV(R;,Ry) _00079 _ o
“~ VAR(R,) 001

0.79

172
40 B

b, =b [1+B/S(1- T)] (1732

b, =0.791+0506)]
b, =1027» 103

B 1.03
B
B B
0.85
0.1
B
B 17.32 B, 17.33
_ b,
b“_[1+B/S(1- ] (1733



085

bu ﬁ =080
B 0.80 B
0.79
b, = 0801+ 05(06)] = 104
B 1.04
1.03
1.04 B
1 17.29 B 17.34
E(R)) = R: +[E(Ry) - R:1b; ( 1734
17.34
E(R;)=10%+8%(1.04)=18.32%
18.32
B 50
1/3 2/3
15
15
B
B B
B B
9% .33 3.00#

18.32% .67 12.27%

15.27%







50

50

MM

50

MM



E Rj

E(Ri)=Re+[E(R\)-RF]b;

SML

MCC
MCC MCC









2.50

11

12 15
12 15
XYZ

12

12

12 11
1.25

62.5

15
. 19x 0 11 15
50
19x 1
12 16
12 16
12 13
15 12
10

2.50

XYZ
75
2 ”
100
4
11






1954
531



18-1 1946 1983 18 1
(1946 1983 )
1946 7.5 5.6 0.75 1965 49.1 19.1 0.39
1947 11.0 6.3 0.57 1966 51.4 194 0.38
1948 17.0 7.0 0.41 1967 49.9 20.2 0.40
1949 16.9 7.2 0.43 1968 50.0 22.0 0.44
1950 16.0 8.8 0.55 1969 45.6 225 0.49
1951 16.1 8.5 0.53 1970 37.2 22.5 0.60
1952 16.7 8.5 0.51 1971 45.7 22.9 0.50
1952 16.7 8.5 0.51 1971 45.7 22.9 0.50
1953 16.0 8.8 0.55 1972 55.0 24.4 0.44
1954 17.5 9.1 0.52 1973 59.3 27.0 0.46
1955 23.4 10.3 0.44 1974 43.3 29.9 0.69
1956 21.8 11.1 0.51 1975 59.9 30.8 0.51
1957 21.8 11.5 0.53 1976 74.6 40.8 0.43
1959 26.0 12.2 0.47 1978 109.1 47.0 0.43
1960 24.9 12.9 0.52 1979 107.2 52.7 0.49
1961 25.8 13.3 0.52 1980 90.6 58.6 0.65
1962 32.6 14.4 0.44 1981 109.5 64.7 0.59
1963 35.9 15.5 0.43 1982 105.6 68.7 0.65
1964 41.2 17.3 0.42 1983 150.6 73.3 0.49
1947 1955 150.6 74.5 0.49
1956 1966 350.0 158.0 0.45
1967 1972 283.4 134.5 0.47
1973 1979 547.7 265.6 0.48
1980 1983 456.3 265.3 0.58
18 (1948 1983)
1948 1966 1966 1972 1972 1979 1979 1983
6.12% 7.79% 10.71% 8.16%
6.34 1.13 10.00 8.87
5.83 3.90 11.63 8.60
1.67 4.32 8.19 8.24




18-1 1946 1983
1947 1955
50
1966 45 1966
47 1973
1980 ——1983 58
18-2 1948
2

GNP 6
1966 1972 4.32

7.79 —_
1972 1979 8

10.71 2.6
11.63 3.44
1972 44 1980 65
1979 1983 8
8.16 GNP 0.08
60 1966
1966 1983
0.43
18-1 1946 1983
1965 1975 200
1978 1979 240 1966 1980
18-2 Walter Watch Company 30
2 1
4
1956
1961

50 1965

1955

1966

1.14

50
1955



18-2

50

1966
1973

Penn Central Railroad

1972

10

50



1961

NOL(D)=NOL,(t)  t=0,1, ¥ 18.1a
|1(t):|2(t) t:O,l, ¥ 18.1b
(1) =d:(1) t=1, ¥ 18.1c
d1(0)¢ dz(O) = 18.1d
18.1a 18.1b NOI t
I t t O t
18.1c 18.1d
dl 0 #d2 0
_dt+D)+R({+D- R()
K.t+1 = 0] ( 182)
ot t

i 1 t

Pi t 1 t

Pi t t 18.2



D,(t+1) +n ()R (t+1)

n(MR® =5 =

1+ Ku(t+2)
(183
Di t 1 nit di o t1
St
Di
S t 1 ni t Pit 1
t 1 mt 1 -p t 1
1 I t 1 DI t
NOI (t+1) + M, (t +1)P (t +1)° I (t +1) + D, (t +1)
(  18.4)
100 80 40
18.4
100+ M, (t+1P (t +1) =80+ 40
M, (t +)P (t +1) = 20
20
100+m; (t+1)P;(t+1)=20+40
mi(t+1)Pi(t+1)= 40
40
18.4
Di(t+1)=NOLi(t+1) Li(t+1)+Mi(t+1)Pi(t+1)
18.3
o~ NOL(E+D) - 1+ +m(t+1) + Rt +D+n (R +1)
S()_ 1+ Ku(t+1)

ni t 1 ni t
m t 1



ni(t+1)=n; (t)+m; (t+1)

() =n(t+D- mE+l

NOI (t+D)- I (t+D+m(y+DRE+D+n(t+)- m(E+HYR({+1)

S = 1+K, (t+1)

_NOIL (t+) - 1, (t+]) +n (t +DP(t +1)

B 1+ K, (t+D

CNOIL (t+D) - 1, (t+]) + S (t +1)

- 1+ K, (t+1) (189

18.5
18.5
Ku
NOI,(1)=NOlI,(1) 1.(1)=1.(1)

Sl(l) :S1(2)

Tc
Tb Tg

Tb Tg



Ydi

Ya=[(NOI rDc)(1 Tc) rDs](1-Tx)

( 18.6)

Yai 1

Nol 1000

r 10

Dc 6000

Dpi i 2000

Tc 40

T, i

30
18.6 NOI
—1rDc 1 Tc 240
NOI rDc
I Tc —rD; 40 40Tpr 12
28
2
Yo=(NOl rDc)(1 Tu) rDu(l Tw)
( 18.7)

Yoi i
Tgi I 15

(NOI  rDc)(1 Tc)(1 T,)=(1000 6000)(1 0.4)(1 0.15)
=204



My 1 Tu 140
64
Ya 28
gi
64
Toi Ta
1978
25000
2500 10 1.00
0.40 0.60
10.60 16667 6
Keogh
6 18-3
18-3
2500 10 25000 16667 2500 10.6 26500 16667
16667 25000 1000 1000
41667 41667 16667 25600
44167 44167
1000 2500 (10.60) 26500
1000 -25000
0 1500
1000
1000
1500

1000

Feenberg 1981
10000



15



Rozeff 1982

Mr.Jones

1982 64 1000
1974—1980
18-4 GROWI  GROw2
GROW1 1974 1979 CROW2 1979 1984

INS  WTOCK INS



WTOCK

INS  WTOCK B
18-4 48
18-4
CONWTANT INS GROW1 GROW2 BETA WTOCK R2 DW F-
(1) 47.81 0090 -0321  -0526  -26543 2584 048 18547
(12.83) (-410) (-6.38)  (-643)  (-17.05) (7.73)
(2 2473 0068 -0474  -0.758  — 2517 033 179 12323
(6.27) (-2.75) (-8.44)  (-8.29)
(3) 7063 — -0402  -0603  -25409 — 041 188 2316
(40.35) (-758) (-6.94)  (-15.35)
(4) 3956 0116 — — -33506  3.151 039 180 21810
(10.02) (-4.92) (-21.28) (8.82)
(5) 103 0102 — — — 3.429 012 160 6933
(0.24) (-3.60) (7.97)
1977
1.
2.
3.
4. 1977
M
v Y



div

M = (L+1)goV, + H Viz D ( 188
JoVo gl’:\vl- L V< D
Y1
1
Vi D
D
Vi=D
Vi D div’
div’
Vla 1b
—_ Vla
O 147
div div’
A - V:lb < Vla
1+r 1+r
18.8
i Vla . .
Tgo(1+r) +0,Vy, div= div( )
M. =i 1+r
a 1 V - .
%goﬂ+r)1fr+gﬁg div <div* ( )

div div*

div



Vl
1+r

i
fgo(l"'r)
l\/Ib =1

i V,,
fgo(l+ r)m + gl(\/]b)

- +91(V1b' L)

diva div( )

div <div* ( )

gJV1a+g1 (Vlb L) <g)V1b+g1V1b

(Ve Vi)<gl

y il

Bhattacharya 1979

1980
10 18-3
1976 12 149

0.72

1977

18-3

2610
1963

3.76



18-3 a

18-3

1983

tc

g b W N
«
o

18-4

rb(l TC) (1 Tdi)
y b
50 40

12

WX

r(1-Tc)=

18-4

di

85

( 18.9)

rb 15
20

18-4

(  18.10)

Yz
AB
BC



1A

r(l Tc)(l 0.15)

/

18-4 a

18-4

15

(

Tai

18.11)



2:1

25 25

Fanla Jensen and Roll 1969
1927 1959 940

1984 Grinblatt Masulisand
Titman
3 3
125 “ "
3.44
1360
Foster and Vickrey 1978 Woolridge 1983
382 4.9 84
5.89 3

Copeland 1979

18-5 Barker 1958



18-5

1950 1953
5 4 30
5 25% 17
5
1981 Dann 1962 1976
122 143
20 1980 1981 Vermaelen
1981
5
1.
2.
1963
3 . 13 ”
302 “ "
20
4.



22-5

1980 1981 1981
Pr PO
23 Pr
pA PA
Pr PA Po 15
PE PA 3 P
PENE
Pon PT no-nE W
PEnE:Pono PT(no-nE)'I" W ( 18 - 12)
Pe
Ne
P,
No
Pr
W
W 1 2
3 4
Fo
r]E
F,=1- — ( 1813)
0
No 18.12
DW
P: (1_ FP) =R - RF +n— ( 1814)
0
P
s Tl Ll 1815
Pono _( - P) F%) P R) ( - )

I FP FP



DW

1981 15.7 10.7
Polo
15.7
20 40 4
1980 1981
50
21.9 50 17.1
1981
W
60
1981 122 51
41 34 9 38
* * *
1961
1967 1970
1981



18—5






Gra-ham Dodd and Cottle



19-1

19-1




1814

" 100
Vi
V, = ¢ + +|_L—£ ( 191)
T (L+K,) (1+K,)? K, '
C Kb
19.1
- 100
8
10 1000
100/0.10 12
833 33 19-2
19-2
4% 2500.00
6% 1666.67
8% 1250.00
10% 1000.00
12% 833.363
14% 714.29
16% 625.00
3
100 000 8



19.2

vo_G G  C+M (192
TR (1K) (1+K,) |
M 19—3
3 0 19-4
19—33 8
8%
1 100 0.9259 92.59
2 100 0.8573 85.73
3 100+1000 0.7938 837.18
=1051 50
19-4 3
4% 1166.51
6% 1106.90
8% 1051.50
10% 1000.00
12% 951.99
14% 907.17
16% 865.30
19-1
10
1000 16
625 865 10
19-1

19—1 10



30

19.2

19—2

10

10 25
20

10 25

20

20

30

30

10

25



vV, ==
s Kps
dps Kps
3.75 100
3.75 1984 8 7 3.75 35.00
19.3 Kps
ds 375
vV, =—2==—=107%
" K, 35 °
19.3
_ 375 _

10.7



dt 2 n Pn
1 g
B + ( )
R = 10+
d+PF d+R@+
— 1 1 — 1 0( g) ( 194)
1+ K)) (1+K))
19.5
P = d 19
0o~ KS' g ( '5)
19.4 19.5
19.5
1 United Rubber 1
2.86 1.90
10 15 5
5 5
RF 9
7
K

Ks=Re+P=9%+7%=16%

dh



di=do(1+9)=1.90(1.05)=2

19.5



18.

18 19.09
1 5
19-5
Ks 16 15.2
Ko 9 5 1.4 16
K. 8 6 1.2 15.2
d ¢
18.18 21.85
190(105) 2
= = ——-=1818

"= 016- 005 011
_190(106) _ 201

‘P = = = 2185
° 0152- 006 0092
19-5
Re % 8%
ERv) Re 5% 6%
b 1.4 1.2
g 5% 6%
19.5 19.6 Ks
d,
Ke=5+0 (  196)
R
K? Ks

o - 201

= +6% = 9.2% + 6% =15.2% = K
52185609060503



19.7

dt

dt

Po
d d

=l oLy
(1+ Ks)l (1+ Ks)2

_§_ 4

_t:l(1+ Ks)t

19.7

LL

dt



(

19.9)



dt t dt dt 1 g t

2.00 dt
8 d1
1.08  2.16 2 2.33 5
di=do(1+g)=2.00(1.08)°=2.94
PO
_ o a d, d,
KT TR Tk
_d@+9)” @1+ do(1+0)° |
1+Ky)'  (A+K)?  (1+K,)®
¥ t
-2 M (  199)
t=1 (1+ Ks)
19.9
P = dy 19.10
0~ Ks - g ( . )
19.10 19.5
Ks g 19.10
Ks ¢ Ks g
Ks g

19.10 19.8



10

gs

do

20

2.00

19-6

60
19-3
19-34
10 27.5
£ dy(1+9.)" |, dn 1
p=g Bl e, oy b
t=1 (1+ Ks) Ks_g (1+Ks)
27.5
16
104.41 10

19-6

10

2.00



1. 16%(K<=16%)

2.10 27.5%, 8%(gs=27.5%,9=8%,n=10)
3. 2.00 (do=2.00 )
(1) (2 ©) (4)
2(1.275)" 1/(1.16)" 2)x (3)
1 2.55 0.8621 2.20
2 3.25 0.7432 2.42
3 4.15 0.6407 2.66
4 5.29 0.5523 2.92
5 6.74 0.4761 3.21
6 8.59 0.4104 3.53
7 10.96 0.3538 3.88
8 13.97 0.3050 4.26
9 17.81 0.2630 4.68
10 22.71 0.2267 5.15
10 : 34.91

10

a 10 ;
_ d;, a 22.71° 108 a

Py = K.- g = 0.08 = 30659

b. 10

1
PV =P, (m)10 = 30659(0.2267) = 69.50

Py=34.91+69.50=104.41




19—7 4

4 EPSO 4 50
2 19—7 PE
19 7
(ch/Po)
po_ % _ 192 9.60  20.0% 240
°  K,-g 016- (-0.04)
_4d, _200 1250  16.0% 3.3
°T K, 016
po_ 4 _ 216 2700 80% 675
° - g 016- 008
P 19 6) 10441 24% 2610
16
4
16
8
4 3
Pt Pt 1
8
19-6
19-6
19.11
g (1+9) (1+ h)”
=2 _=(1+h 1+h)FVIF
8 (1 7 = @I = @ FUFA,
(  19.11)
1+9, _
el
19-6 1 h



1+g, 1275
= = —— =1099138

Wh=1T"k " s

10

(1+h)*=(1.099138)"=2.5735

(1+h)® - 1=15735
1+h)°-1 15735

= 1587 = FVIFA(9.9138%,10 )

h 0099138
1 h
do(1 h)(15.87) 2.00(1.099138)(15.87) 34.89
10 19-6 34.91
19-6 2 3

19-7 —_—



19—38

NOI X
X
19.12
X(@- T)
LT =S (1912
Ku
19-8
19x 0 12 31
3500000 3500000
19x 0 12 31
7000000
4900000
2100000
150000
(NOI,X) 600000
( 40%) 240000
360000
Ve
X
Ke
S
T
S Vu
Ku Ks

19.12



= Q T

19-8 19.12

X 600000 T 40 Ku
19.12
V =S= —600000, 06 _ 2400000
N o L
( 1912a)
X
X,(1- T)(1- b)(1
y = Xoll- T)(1- b)(1+9) (1013
K,- 0
t [ /X (1—T
X 1—T br
X 1—T /I
19.13 g br X X 1—T
g Ku
r Ku
r Ku 19.13
V = X(@- T)(A- b)(1+9g)
- Ku -9
3 X@1- T)(A+g)- bX(1- T)(A+9)
- Ku -9
: K, X(@- T)A+9g)- K,bX(1- T)(1+09)
Ku(Ku - g)
_ X(l_ T)(l+ g)(Ku B bKu)
K. (K, - 9)
_ X(A-T)A+g)K, - g+g- Kb)
K, (K, - 9)
_ XE-NA+g)K, - 9) N X(1- T)YA+9g)(g- bK,)
K. (K, - 9) K. (K, - 9)
_X(1-T)a+0) . X(1- T)(1+g) b(r - bK,)
- Ku Ku Ku - g ]

( 1913)

15



b r_Ku

X T Ku
b 0.6 r 16 r Ku br g 8
Ku 15 19.12
_ 600000" 06" 05° 1.08__2777143
u 0.15- 0.08 -
( 1913b)
2400000
2777143
19.13a r Ku r 14
16 b 0.8 g 11.2 8
19.13c
_600000" 06" 0.2° 1112__2106947
v 015- 0112 B
( 1913c)
2106947 r Ku
r Ku
19.14
N (1+g.)' X.(1- T)(@A+g)"
Vu - Xo(l_ T)(l' b)é ( gs)t + 0( )( gs)
t:1(1+ Ku) Ku(1+ Ku)n
Os
n
19.14
FcF NOI
gs Ku 19.13 FCF



19.12

1

570

19.14
X 1—T gs n

19.14 gs
gs 30 n 5 19.14

V. = 60000006 (05 & £30" , 600000(06)(130)°
. = 000000099 15 " 015" iy

130" _ & t ) , ]
s - a (113" +113" + 113%+L L +113
t=1 t=1

Qo

n
a (1+h)' =(1+h)" FVIFA,,
t=

(1+h)FVIFAw. s=1.13x 6.480.

1.30 ° 1.15 ° 1.13 ° FVIF
I h°© 1.13 ° FVIFs s 1.8424
19.14a

V,=180000x 1.13x 6.4803+2400000% 7.8424=5739853
(  19.15)

180000 19.13b
h FVIFA, « h 0.13 n 5
—7b5 30 15
30

19.15



V, = X,(1- T)(1- b)a (+g)

Xo(1- T)(A- b)(1+g), (1+g,)'

(1+K,) K, - (1+K,)"
19.14 19.13
643.5
19
360
000
15
3 1 19-8 350
1
19-9
(1) (2) (3)
1. 2400000 6.7 0.69:1
2. (9=8%) 2777143 7.7 0.79:1
3. (9=30%)
A 5739853 15.9 161
B (9=8%)6434701 17.9 181
19.12 Ku
100
Kb 12

17.8



B
Ks = Ku +(Ku - Kb)g(l_ T)

1
=015+ (015- 012)° 1 " 06=015+003" 06
=0168

B S
WACC =K, (L- ) 555 +Ki(57g)

=012 06" 05+0.168" 05=012

600000" 0.6 _ 360000

V, =B+S= 012 012 = 3000000
360000+ 0.15 2400000
600000 MM
V=V +TB
B/VL 0.5 VL 3000000 B 1500000 TB 600000
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